

Bestäm z''_{yy} uttryckta i derivator med avseende på u och v då

$$\begin{cases} u = x + 3y, \\ v = 2x - y. \end{cases}$$

$$u = x + 3y, v = 2x - y.$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\frac{\partial^2 z}{\partial y^2}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\frac{\partial^2 z}{\partial y^2} = \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right)$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\frac{\partial^2 z}{\partial y^2} = \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*)/$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\begin{aligned} \frac{\partial^2 z}{\partial y^2} &= \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*) / \\ &= \frac{\partial}{\partial y} \left(3 \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} \right) \end{aligned}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\begin{aligned} \frac{\partial^2 z}{\partial y^2} &= \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*) / \\ &= \frac{\partial}{\partial y} \left(3 \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} \right) = /linjäritet (produktregeln) / \end{aligned}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\begin{aligned} \frac{\partial^2 z}{\partial y^2} &= \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*) / \\ &= \frac{\partial}{\partial y} \left(3 \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} \right) = /linjäritet (produktregeln) / \\ &= 3 \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial v} \right) \end{aligned}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\begin{aligned} \frac{\partial^2 z}{\partial y^2} &= \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*) / \\ &= \frac{\partial}{\partial y} \left(3 \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} \right) = /linjäritet (produktregeln) / \\ &= 3 \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial v} \right) \\ &= /w = \frac{\partial z}{\partial u} \text{ respektive } w = \frac{\partial z}{\partial v} \text{ i } (*) / \end{aligned}$$

$$u = x + 3y, v = 2x - y.$$

$$(*) \quad \frac{\partial w}{\partial y} = \frac{\partial w}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial w}{\partial v} \frac{\partial v}{\partial y} = 3 \frac{\partial w}{\partial u} - \frac{\partial w}{\partial v}.$$

$$\frac{\partial^2 z}{\partial y^2} = \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial y} \right) = /w = z \text{ i } (*)/$$

$$= \frac{\partial}{\partial y} \left(3 \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} \right) = /linjäritet (produktregeln)/$$

$$= 3 \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial y} \left(\frac{\partial z}{\partial v} \right)$$

$$= /w = \frac{\partial z}{\partial u} \text{ respektive } w = \frac{\partial z}{\partial v} \text{ i } (*)/$$

$$= 3 \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial u} \right) \right) - \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial v} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial v} \right) \right)$$

$$\begin{aligned} z''_{yy} &= \frac{\partial^2 z}{\partial y^2} = \\ &= 3 \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial u} \right) \right) - \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial v} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial v} \right) \right) \end{aligned}$$

$$\begin{aligned}z''_{yy} &= \frac{\partial^2 z}{\partial y^2} = \\&= 3 \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial u} \right) \right) - \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial v} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial v} \right) \right) \\&= 9 \frac{\partial^2 z}{\partial u^2} - 3 \frac{\partial^2 z}{\partial v \partial u} - 3 \frac{\partial^2 z}{\partial u \partial v} + \frac{\partial^2 z}{\partial v^2}\end{aligned}$$

$$\begin{aligned}z''_{yy} &= \frac{\partial^2 z}{\partial y^2} = \\&= 3 \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial u} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial u} \right) \right) - \left(3 \frac{\partial}{\partial u} \left(\frac{\partial z}{\partial v} \right) - \frac{\partial}{\partial v} \left(\frac{\partial z}{\partial v} \right) \right) \\&= 9 \frac{\partial^2 z}{\partial u^2} - 3 \frac{\partial^2 z}{\partial v \partial u} - 3 \frac{\partial^2 z}{\partial u \partial v} + \frac{\partial^2 z}{\partial v^2} \\&= 9 \frac{\partial^2 z}{\partial u^2} - 6 \frac{\partial^2 z}{\partial u \partial v} + \frac{\partial^2 z}{\partial v^2}.\end{aligned}$$